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C. Garden of the Sun
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O $n\equivl\bmod 3¢ 000000 $1,4,7\cdots$ DO DO O ODOOODO $3k+2,3k+3s 000000
ogooooooo

000 $3k+2,3k+3¢ 000000000000 000ODOO0O0O0ODOODOO0OOODOOOODOOOO
goboooooooooo

0 $n\not\equiv 1\bmod 3$ 0 O O $1,4,7\cdots$ O OO0 $2,5,8\cdots$ O OO O OO

const int MAXN= 0
char buf [MAXN] [MAXN];
int main

int T=read int();
T--
int n=read _int(),m=read int();
_for(i,0,n)scanf("%s",buf(i]);
int sl1,s2;
N%3==
s1=0;
s2=2;

sl=1;
S2=3;

int i=sl;i<n;i+=3) for(j,0,mbuflil[j|="X";

int i=s2;i<n;i+=

bool flag=false;

_for(j,0,m
bufi- jl="X"||buf[i] [j]=="X"
bufi- jl=bufl[i][jl="X";
flag=true;
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I'flag
bufi- =buf|i ='X";

_for(i,0,n)puts(bufiil);

D. BFS Trees

ud

000000000000 $x$000 $\text{BFS}$ 00 000000O0O0O0OO $x$000000O0ODO
000 $x$0000

00 $fix,y)$ 00000000 $x$000 $\text{BFS}$ 0000000 $y$ 000 $\text{BFS}$ O
ggoooogo

gd

000000000 $xy$ 0000000000000 $f(x,y)=0%0

O000 $x,y$0000O0000 $usgo O $\text{dis}(x,u)+\text{dis}(u,y)=\text{dis}(x,y)$00 O O
000000000 $\text{dis}(x,y)+1$ OO

OO0 $xy$ 00 000000000000000 $\text{dis}(x,u)+\text{dis}(u,y)=\text{dis}(x,y)$ O
00000 $\text{dis}(x,y)+1$ 00000

000000 $x,y$00000000000000000000DO0O0O0O $xy$000000O0O

00000000000 00000 $suttov$IDOOOODODOOOO
$\text{dis}(x,u)=\text{dis}(x,v)\pm 1 \text{dis}(y,u)=\text{dis}(y,v)\pm 1$[]

00O $\text{dis}(x,u)+\text{dis}(u,y)=\text{dis}(x,v)+\text{dis}(v,y)$00 $u,v$ O OO $x\toy$ 0O
oooooo

gobooobbodoobooobbuooobbuooobbooobLbbooobbooobboobnb o

O00D000 $u$0 o000 v o000 0oO0 $\text{dis}(x,u)=\text{dis}(x,v)+1$ O
$\text{dis}(y,u)=\text{dis}(y,v)+1$[

0000 $0mM)$ 00000 $fix,y)$f0O0D0O0OO $0(n™2m)$Q

const int MAXN= , MAXM= ,Mod= ;
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struct Edge
int to,next;
edge [ MAXM<<1];
int head [ MAXN|,edge cnt,dis MAXN| MAXN/;
void Insert(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u!=edge cnt;

int main

int n=read int(),m=read int();

mem(dis, /3);
_rep(i,1,n)dis[i][1]=0;
_for(i,0,m

int u=read int(),v=read int();
dis{ul[vi=dis|v] ul=1;
Insert(u,v);Insert(v,u);

_rep(k,1,n) rep(i,1,n) rep(j,1,n
dis!i![jl=min(dis[i|[j]|,dis!i][ki+dis|[k]|[]j]);

_rep(x,1l,n
_reply,l,n
int ans=1,cnt=0;
_replu,l,n

dis|/x||ul+disiulyl==dis|x]|[y])cnt++;
int cnt2=0;
int i=head/u];i;i=edge[i].next
int v=edgel[i].to;

dis|[x|[ul==dis (x| [v|+1&8dis|y| ul==dis(y|[v |+
cnt2++;

ans=1LL*ans*cnt2%Mod;

space(cnt==dis|[x]|[y/+17ans:0);

puts ;

E. Qingshan and Daniel

0O

0000000000000 0000000 %ais000
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g0 ooooon
OO0000D0O00O00CO0ODbDOOoDOoOonbg sosd

oo oo OO
HEN

dobooobbooobboooboo
gobooooboobooooboooobbooobbuooobooobbooobbooobbooobobog

0000000000000 000D00000000000000000 $0(n)$0

const int MAXN=5e6+5,Mod=1e9+7/;
int seed,base;

int rnd
int ret=seed;
seed=(1lLL*seed*base+ %Mod ;

ret;

int a/MAXN!,b[MAXN|, t[MAXN];
LL s ;
int main

int n=read int(),m=read int(),pos=0;
_for(i,0,m
int p=read _int(),k=read int();
seed=read int();
base=read int();
pos<p
tlpos/=rnd()%2;
alpos!=blpos|=rnd()%k+1;

poSs++;
_for(i,0,n
s[t[i]]+=alil;
int flag=(s[0]"s ?7(s[0]<s (1t ;
t ==flag
b[O]--;
LL pre=0;
_for(j,0,
_for(i,0,n
tiil!=flag

https://wiki.cvbbacm.com/ Printed on 2024/04/14 11:00



2024/04/14 11:00 5/9 Codeforces Round #706 (Div. 1)

pre+=blil;
b[i]=0;

int temp=b|[i/<pre?bl(i]:pre;
bli]-=temp;
pre-=temp;

int ans=1;
_for(i,0,n
ans=1LL*ans* alil-blil )™ (1ILL*(i+1)*(i+ %Mod+1)%Mod ;
enter(ans);

1

F. Squares

gd

0000000 $n$ 00000000000 $p_i,aibisgd0 $pis 0 $1\simns 0000

0000000000000000000 $i$000000 $ai$00 $i+1$000 $bis 00 $is O
0000 $pjgtj$ 0000

O $i+l\gtn$ 000 $ais 00000000 $$00000O0 $bisOOOOOOODO
O0O00O00 s$S$poocooon

gobooobobodoobooobbooobbuooobboobbboobboooo
gd

0000000000000 00000 $ais000000 S is0000DOOOO0OOO
$a_0=0,b_0=\infty,p O=n+19$[]

ODo0O00oooooOsesDOOOoOooooooooon
O000000000 $pjtj$0000000000000000O0O00O0ODOO$$00000

0000000 %i$J000 %4 0000000000 $i$00000000000000O $bs00O0O
OO0 $is000000000D0O0

0000000 %$ 0000000000 $T$0o0ooan
$$ \sum_{i\in T}a_i+\sum_{i\not\in T,f(i)\in T}b i $$

0 $c_i=a_i-b_i+\sum_{j\in \text{child}(i)}b_j,c_0=\sum_{i\in \text{child}(0)}b_i$00 0 00O O
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$\sum_{i\in T}c_i$[]
O $\text{dp}()$ 00 $\inT$ O $T$ O OO $i$ 000000 $cis 0000000 0O0OODOOODO
$$ \text{dp}(i)=c_i+\sum_{j\in \text{child}(i) F\min(\text{dp}(j),0) $$

000 $S$0$T$ 0000 $us000000D0 $p$s 0000 $T$00OD0DODO0D $p$ 000000
000 $us

OO0 $T$0000000 %$S$00000000 $T$OC $H$ OO ODODODDODODOODOODOOOODOO
o

$$ \begin{equation}\begin{split} \sum_{i\in T}c_i&=\sum_{i\in HH\left(c_i+\sum_{j\not\in H,j\in
\text{child} (i) \min(\text{dp}(j),0)\right) \\ &=\sum_{i\in H}\left(\text{dp}(i)-\sum_{j\in H,j\in
\text{child} (i) }\min(\text{dp3}(j),0)\right)\\ &=\text{dp}(0)+\sum_{i\neq 0,i\in H} (\text{dp3}(i)-
\min(\text{dp}(i),0))\\ &=\text{dp}(0)+\sum_{i\neq 0,i\in H}\max(\text{dp}(i),0)
\end{split}\end{equation} $$

000000000 $H$DDDD00000000000000000000000000OO
$\text{dp}$ 0000000 DOOODOO

0000000000000 000D00D00O $\text{dfs}$ 00000000 O0O0O0O $0(n\log n)$0

typedef set<int>::iterator iter;
const int MAXN=2e5+5;
struct Edge
int to,next;
edge MAXN | ;
int head MAXN|,edge cnt;
void Insert(int u,int v
edge|++edge cnt|=Edge{v,head/u]};
head|u!=edge cnt;

int st/MAXN|,tp,p/MAXN!,a/MAXN!,b[MAXN!,cnt[MAXN];
LL c/MAXN|,dp ! MAXN];
bool vis|[MAXN];
namespace LCA
int d/MAXN],sz[MAXN],f[MAXN];
int h_son[MAXN|,mson|[MAXN|,p[MAXN|;
LL dis!MAXN];
void dfs 1(int u,int fa,int depth
szlul=1;flul=fa;d/u/=depth;mson u/=0;
dplul=clul;
int i=head/u!;i;i=edgeli].next
int v=edge/i!.to;
dfs 1(v,u,depth+1);
dplu/+=min(dpiv],0OLL);
szlul+=sz[v];
sz/vl>mson|u
h sonlul=v,mson|ul=sz|v];
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void dfs_2(int u,int top
plul=top;
mson/u|)dfs 2(h soniul,top);
int i=head|u];i;i=edgel|i].next
int v=edgel[i].to;
==h_son|u

dfs 2(v,v);

void dfs 3(int u
dis{ul+=max(dplul,OLL);
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
dis|v/+=dis|u];
dfs 3(v);

void init(int root
dfs 1(root,-1,0);
dfs 2(root, root);
int i=head|root];i;i=edge[i!.next
dfs 3(edgelil.to);

int query lca(int u,int v
pull=plv
diplull<dlplv!])swap(u,v);
u=flplull;

diul<d[v]?u:v;

LL query dis(int u,int v
dislul+dis|v|-dis/query lcalu,v) *2;

int main

int n=read _int(),qg=read int();
_rep(i,l,n)plil=read int();
_rep(i,l,n)alil=read int();
_rep(i,l,n)blil=read int();
plul=n+l;
_rep(i,1,n
pistitp!l<plil) tp--;
Insert(stitp!,i);
st/ ++tpl=1i;

_rep(u,0,n
clul=alul-blul;
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int i=head|ul;i;i=edgel|i].next
int v=edge/i!.to;

clul+=blv];
LCA::init ’
set<int> s;
s.insert ;
cnt ++
LL ans=0;
q- -
int u=read int(),p=LCA::flul;
lvis|u
cntipl++;
cntlpl==
iter rig=s.upper bound(p);
iter lef=--rig;
rig++;
rig=(rig==s.end ?s.begin():rig;
ans+=LCA: :query dis(p,*rig);
ans-=LCA::query dis(*lef,*rig);
ans+=LCA: :query dis(*lef,p);
s.insert(p);
cntipl--;

cntipl==

iter rig=s.find(p);

iter lef=--rig;

rig++; rig++;

rig=(rig==s.end ?s.begin():rig;
ans-=LCA::query dis(p,*rig);
ans+=LCA: :query dis(*lef,*rig);
ans-=LCA: :query dis(*lef,p);
s.erase(p);

visiul=!vis|iu]l;
enter(dp/0O/+ans/2);

https://wiki.cvbbacm.com/ Printed on 2024/04/14 11:00



2024/04/14 11:00 9/9 Codeforces Round #706 (Div. 1)

From:
https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link:

Last update: 2021/03/29 10:28

CVBB ACM Team - https://wiki.cvbbacm.com/


https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:contest:cf_706_div._1

	Codeforces Round #706 (Div. 1)
	C. Garden of the Sun
	题意
	题解

	D. BFS Trees
	题意
	题解

	E. Qingshan and Daniel
	题意
	题解

	F. Squares
	题意
	题解



